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1. Use end behaviours, turning points and zeros to match each graph to the most likely polynomial equation. (4 KU)
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2. Given below is the graph of the polynomial function p(x). Determine each of the following. (12 KU)

(a) End Behaviours
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As X—> -0, y—> 00 /|
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(b) Number of Turning
Points (Mark the turning
points on the graph)
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(c) Zeros and Multiplicities
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3. Given the polynomial function q (x) =-3x® —9x* + 4x* + 7x—3, determine each of the following. (10 KU)
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4. Sketch the graph of g(x)= g(—Z(X-i-l))s —5 by applying transformations to the function f (x)=x*. (9 APP)

(a) State the transformations required to obtain g from the

base/parent/mother function f (x)=x".
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(b) Express the transfo

ion in mappi@g notation.

(x,y)e(‘é‘%"') %y-—s)

(c) Apply the transformation to a few key points on the

graph of the base function f (x)=x
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5. Sketch a possible graph of f (x)=
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